2 TT OO G i
== $3825] e 0 &
W s 820 E o a
0 E2 L ° o
om FEels o) o) . (q\
EQ sgcdf] |% & N 5
<yz| £ | °%; N =
W N O m 53 M C w
W S h > > >
55| 2% THE S8 o N =
Qo3| 24 wz |z Z|g Z =~ S
Oxol 9° ) © < e ~
X == o¢ - mm 3 ) [S)
Of - o m.u._ e o
<02 «=% <
< W_ ul ¢ Bl |8 ks Q = i
= ) ul O . >l w 2 LL S
033 8% T I T o2 m| < O 8
o082 “E| S | lelazlE] | | 28] se| E|s 2
25 ¢ & AEEE Sle| £¥| Z|Ec 3
£ o = 3|0| Qlg| © 1| 3 =)
Y L = = ) X Dnm o = Pt T RPN N [4 ~—
INg |8 w52 s Zl| soliz| < 85
S < |5 A Olfizx| < rlEl NE|s<| 2 RS
z 5 S ~
LL] |2 nﬂ M"TJ 4.“ 23 mm no,....|.|.|.|.mv do H n,y. dQ. Mm |I|v.|.|.|_n , ,+4 “ mw now p pw p
= re o o . g% 8 9 g 28 © 2 gg 22 gesg
XL g S5 < o 7 @ 99 ° = @ s % 9 % = NEEERL
olg + .. 1 olg ++ + + i Ol A———t————+ v araa
Ll S I I i O : fegpe Rt
m a o MmNm W g a W £ &
L 888 2 g 3 g e s Vg g 2288 8§ g e g 8 8
n—lw 4M WFM"O.M/" _W" "p\wuﬂ M" o m mﬂ" _ﬂn.qu"v" Mwu" an/,_" NM" LM M" \M"M“ Wl," M1_" WM" mw ﬂ.mn_v"Ko"O_ _mv“ _.IM/,_" %3"
o . 8 2 b ° > et
o
2 32 825 m RN
E 1_m wM"_ N,uw"1. w," 7me._wmwm v m ﬂm w"m".wv“ m" & < wm _H m" AN
o 23 c 25 b 2 M iy & B LS S § 8°
a I8 3 2 2 8 g S s
: : 53 3 8
M O
X 3
[relsl : : : : : Lo
— G8'¥6="Pzd |190'86 (G066 |l0°C Ol O GC'Gko ()
o 08°96="P'ZY ‘Z'0¢ Njpuby sluszobym foid 3 NTs ~| 3
Z2 §8v6=P2d [C0B6 |C0G6 [66C |82 |@—~[608 x| O
MXEXQ|T S o
00°G6="PZY ‘G’0¢ Nnypupy op aluszobm oid o 1S ©| 3 $
08v6=P2d" ¥186 00C6 ¥I¢C 000 ()
=N a8'v6="Pp2zy " |1£'86 |[G0'G6 |9C°¢C © o9l | O
)y . €0°L6="P'ZY ‘T°'0¢ nypuDy 8lUsZODM ‘(01 P U_S4 ps
P 10'/6="p'z¥ ‘7'0p Njpupy aiuszobim Toid PRAL|o_: - s
~ 8V6=P 2 (4286 (2066 |22t | \ O[S Ao
00°G6="P'Zy ‘G’'0¢ njpupy op dluazobm Toid o Q S| 8
0876=P2d" ¥186 00G6 ¥I¢C 000 o
fofe
W—
0=
Rk 9/'G6="P'ZY ‘Z'0¢ n4bupy sluszobym foiy
R T 9/°'G6="p'zy ‘T°0 njouy siuszobm foid po =
ST S76=P78 [7076 (576 [60C o\ £] = |B89%] O
m ¥9'y6="P'ZY ‘G'0¢ Nypudy op 3luezobm foid — S sl 2
) Wye=Pzd" €696 ¥9¥6 6C°7C M 000 ()
3 3
A 91'76=P24 "[G6C6 [9C¥6 [6GI c 6,°0¢ ()
=
S, O ®
. (T U0 <
B o
=S = xO
N 76'v6="P'Zy ‘7°0¢ nypupy sluszobM ol =g
2 3 C6Y6="PZy ‘C'0p nyouy diuezobm foig| . e . =
A 60'v6="P24 W009'00 |81'96 [6C¥6 |68 M 9999 0o
x 17Y6="PZY ‘G"0p Nnjpupy op sluszobm Toid O o
a 1076=P24" 1296 LCL¥6 61 000 AN
R R S
™ ™
88 79°96="P 24 TS00 PP L0 SBAVEYR 19UIA [ /8'26 [29°96 [GC L SOTERl R
=0 6696=P24 |¥6/6 |6G96 |GT L c L0 O=
0
([@»)
)
7o)
n
]
2
&
2 2
3 v296=P2d |I6Z6 |¥v'96 |LVL I805SH O
el
LEiy S S
B=2 ¥ 2
L = { ¥G°96="P'ZYy ‘C'0¢ nyoupy sluszobm Toid
S5 8G'96="P'ZY ‘Z'0g NypUDY w_choE;..FLnr_ i . i i 5
a 81'96="P24 " |¥8°/6 |8C'96 [9F'I 8G'80GI A e
| 4
o
PR ) ~
{5
- [¥'96="P'ZY ‘T°0¢ nhypuDy 8lusZODM (01
0 . ”. . b= o
o 67°96="p'z4 ‘T'08 Njoupy siuszobm foid 3
a 0V96=P24 [6/°L6 |0 96 |6V} yCesvl O
>
o
=i o
-1 GG'96="P'zy ‘70 nypuDy dluszobm oid
=2 8C'96="p'zy ‘70p Nnipupy siuszobm Toid X
o 2096="P2d ' [98°/6 [2C96 [¥9'1 L[8'LSY) A
3
o
[Te]
3
= I
3 _" DISUS [5qDY| 7196 QCeey
MOU o
2 @
2 1856=P24 ' |G6Z6 |L0°96 |88 80V o <«
3
o 0]
o]
L. "UDS "UDY 00°96 l7°18c1L
oow
O[— “UDS °UDY 86°G6 L9°9LS
¥G°96="P'ZYy ‘7'0¢ nyoupy djuazobm Toid
~ 9G'96="p'2y ‘Z'0p Nnioupy sjuszobim foud =
i) 9/°66=P2d [£8°/6 [96°G6 [/81 [6'89¢1 A
D w—
LO
O &
N 2
L
DS "UDY G856 [l |ov¥ee
e 3
— leo ~ '96="P'ZY ‘7’0 NjpuDy BluszObIM [0.id
3o L Th-98=b73 ‘508 niouoy aluszobi Toig < ©
° A ro..mwm.nwmwF 89°/6 (1866 |/8] . |COBIE A
! o
S8
M
W &I
_ . ~ 5
i 0G°96="P'Zy PIslalw "pom ¢/°G6 mméw@m
D
_
i O
S bym [ =
€T°96="p'2y ‘709 NypuDy 8juszobM foid
K 92°96="p'zy ‘7°08 NjpuDy siuszobm foid as ©Q
a 9v'S6=P2d [2GZ6 |99G6 |98} w89l o
o Ve m
8= ~
- L1'96="P'ZY ‘T°0¢ nypuDpy dluszobm ol -
3 07°96="P'zY ‘7'0¢ Njoupy siuszobm Toid e
=) 0v'S6="P24 " [8%'/6 |09'G6 |88l ¢0'lSCl A
I
HoN &
O —
iy GZ'96="P'ZY ‘70 NyouDy Sluszobm 0.id
% = 87'96="p'zY ‘7’08 Njoupy aiuszobm foig Q4u
=) = €6°G6=P24 [9G°/6 [£GC6 [£0C 18°GCCl
L) b ‘UDS "UDY
= |
°
o~
wn
oI
wn
oD
K= "DJsus [9qDY 6¢°G6 ¢L'o8lLL
CH'96="P'zy ‘70 nypuDy dluszobm ol
g 0%'96="p'zy ‘Z'0p nipupy siuazobm Toid g
(=) LV'66="P24 " [¢/'/6 |/£'G6 |9C°C 9eCLIN A
M
<
=
=3 8
© - 2
T - 79'96="P'ZY ‘7°0p NJpuDY 3luszobiM foid =
.. 70%6=P2d 0626 |2CG6 |89¢C Szl o
=1 )
2 i
bos 99'96="P'zY ‘Z°0¢ NjouDy 3juszobm foig 13
A 8676=P2 |766 |8LG6 |9LC %60l &
| %
S
<
M
2
= YRR} P90 S
) A 89V6=P24 (9086 |80°G6 |86C 169201 &
ey ‘UDS "UDY £0°G6 Nm.wmm
" 6L°96="P'ZY ‘7’09 NjouDy 8lusSZObIM ‘(0id s
2 L — 18'96="P'ZY ‘C"'0$ NjouDy oiuszobim Toid =X
! ') ¥8¥6=P24 " |01'86 |[¥0°G6 [90°C GG'c0l M
Do "UDS "UDY| ° o
OF— N e
y 00°S6="P'zY ‘v°0¢ NypuDy slUszobyM Told M s
o 00°G6="P'zYy ‘4°0p nyoupy sluszobim ‘foid =) o
A 0876=P2d 7186 |00G6 |Vl ¢ c Gc0s0l
(<o)
. o M S
o= "UDS UDY| 6676 o2 LL'9st
= [8°96="P'zY ‘7°0p nyoupy sluszobm ‘foid m
S~ = 68°96="p'z4 ‘7°08 Njoupy siuszobm foid 5
-0 8[¥6=P2d |6186 |8676 |ICE c0zsol
°
o~
<
wn
~ o
823
- €0°L6="P'ZY ‘T'0¢ nypupy sluszobm ol
< 00°/6="P'zY ‘Z'0p nipupy siuazobm Toid =
a vL96="P24" [€C'B6 |¥6'¥6 |6C°C 19986 |
S
<
[Te]
&
2 2
R e 8976-P2d |87 86 |88%6 |09% 06| A
o
S
o~ <+
= L
°
2
©
&
500N
Rae
- GO'L6="P'ZY ‘709 nhyouDpy 8luszZObM (01
< L0'/6="P'ZY§ ‘T’0p nyoupy siuszobym foiq 3
R m_mmmj 9V6=P7d |G 86 |86 [IGT A
N
3
ol
NS—
- 06°96="P'zy ‘70 nypupy aluszobm Toid
3 ‘ 76°96="p'ZY ‘7°0¢ Nnjoupy siuazobjm Toig P
a 6576=P2d [0C86 |66 [I¥C 861¢8| O
B
= 3
= L
°
8
3
&
82
- 99'96="P'ZYy ‘Z'0¢ N4bupy sluszobm foiy
> 69'96="p'zy ‘T'08 Njpoupy siuszobm foid S
Aa VG¥6=P2d |G6Z6 |¥L V6 |ICE €L O
3
2
wmw ‘UDS ‘UD)
97'96="P'ZYy ‘Z'0¢ N4bupy sluszobym foid
$£°96="p'z§ ‘7’08 Nioupy siuszobm foid P
6vv6=P2d "[19°/6 [69%6 [C67C 2253 OD
o
8y’ v6="pzd 'W009'0Q [€C/6 [89%6 [G8TC 8V'64L m
~
<
68°C6="P'ZY ‘Z'0¢ Nnjoupy sluszobm Toid
i $8°CH="p'Zy ‘Z'0p Nhjpupy aiuszobm Toid ~
N o 9r'¥6="P'24 'WO09'0Q [61°6 |99'%6 |£GC 1£°¢08 @VD
J "UDS_"UDY| o| <
GY'¥6="p2d 'W009'0Q [G6°96 [GOV6 [0£T 3.0@@4. ~0
Vpb6=P2d W00900 (/896 |v9V6 |SCC 787163 a
¥9'¥6="p'ZY ‘7'0p NjpUDY 3luszobyM foid S| 2
YW¥6=P24 [€6°96 [¥9V6 [6C°C L1689 M
=
o
[a]
‘UDS "UDY
[£°G6="P'ZY ‘T°0p NJpuDY 3luszobiM foid 3
Tr¥6=P2d G996 |29¥6 |S0C ¢S99
o
]
N
N
01'G6="P'Zy ‘708 Ntpupy 8juszobym [oid N
66V6=P2d |¥£96 |6G¥6 |GLL CTrI|
3
<
L, o~
b
(<o)
PR ON
WBH ‘UDS °UDY GG'v6 98865 ¢
8/'V6="P'zy ‘T°'0¢ nhyouDy dlusZODM (01
Q2 I8Y6="p'zy ‘T0p nioupy siuszobm foiq - <
A VeV6=P2d |Z0°96 |¥G V6 |SG L 716G | O
M
o0
BC'C6="P'ZY "UDS "UDY £G'v6 L0 12°08%
O &
" S
YR="P'ZY ‘7’ @ NjOUDY SIUSZODIM 'l0Jd
S el L 53e=p7 ‘708 nipuDY silezobih Touq n 3
a ZEV6=P7 [26°C6 [25F6 [0V 92TR A
8C°C6="PZY "UDS "UDY 166 —l GL'6GS
O
o] =
o S
283 ©
- $6="P'zy ‘Z°0¢ nyoupy sjuszobym foiy
2 0Gpo="D7 ‘709 njouny siuezobi Toig %) Q
A 8CV6=P2d |C8G6 |8V V6 |¥T L © [9505S |
W BC°C6="PZY TUDS "UDY 8v'v6 ~ ¥8'GCS
[>e]
. _ A
Z ! D
BCC6="P 2y ~UDS "UDY [v'v6 | |erols
2
o
“ B é
o
o — : .
ON— Ups ‘UDY Ch'v6 69°9LY
LLY6="P'ZY ‘706 njpupy sluszobm Toid
N YL y6="p'zy ‘T0p Niouy siuszobm foiq N
Aa Z¥6=P2d 2096 |Lv¥6 _|09'L 81697 | O
‘UDS "UDY ch'v6 91'99%
=
¥
"UDS UDY| 6276 £0'8s
%
=
N S N
~ 0 < IVV6=P2d (1196 |LE¥6 |vLL |
.m — ‘UDS "UDY [S%6 08°LlYy
"UDS UDY| 9CY6 9G°80%
% <+
=
=2
- GLY6="P'Zy ‘T'0¢ nhyouDy 8lusZObM (01
< LLY6="P'ZY ‘T0p njpupy siuszobm foiq <
A CIv6=P2d [90°96 |cC¥6 |SLL 2908
‘UDS "UDY £ev6 89'9/¢
"UDS UDY| 756 05'¢98
3
oy
mmw EERNER 0C¥6 SN L¥'9re
Y8 ¥6="P'ZY ‘7°0¢ nybupy sluszobym foig —
A =24 78'76="P'zy ‘T’0p Nioupy siuszobm foid o 2
~ Ao 6076=P24 |61 96 |6C¥6 |06 = 80| O
© [T ¥6="P'ZY ‘G'0p Nyoupy d1USZOb}M ._En,_ . . % i ~ x
o 10V6=P24 (1296 |LC V6 |¥6L S 65| O
° 4 3
~ 96°¥6="P'ZY ‘C°0p Njouy 3juszobm foig ~
Ao 20%6=P2d [ZC96 |CC V6 |G0C 109F |
3 )
~
s . SIS
— © <
e - L0'G6="P'ZY ‘Z'0p NjpuDy 3juazobym foiq ©
°Nn ¥6'€6=P2d [9C°96 [¥1¥6 [CCC [9°88C| OO
2
A3 S
Ny L1'GB="P'ZY ‘T°'0¢ Nnjpupy sluszobm Toid
w CL'GF="P'zy ‘T’0p Nioupy siuszobm foid o
Ao 18°€6=24 'W009'0Q |2v' 96 |L0¥6 |GL ¢ 6v.9C| O
~
M o8} 199pY €0'v6 Ly vSE
107U "Zob
A "UDS "UDY I
O 78€6=P2d |¥¥°96 |C0¥6 |¢v e 05| 0
’ DYSTSUT pom 6676 09°012
. + o %
& - _ e TSI 31W "pom 766 24 X4
- = - "UDS UDY| 96°¢6 $£°0£C
o ™
o V[€6=P2d |GV'96 |¥656 |1GC IvZ |
N N
s &
2002 * REEINY ¥8°¢6 1881
&
p TLY6="P'ZY ‘T'0¢ nypupy sluszobm ol
i C/y6="P'ZY ‘T0p Noupy siuszobm Toid N
=) 09'¢6="P24 " [66'G6 |08'C6 |61'C 9Ll o
oV < 0
QS p
- 6CYE="P'ZY ‘Z°'0¢ noupy sluszobym foiy -
= CY¥6="p'Zy ‘T’0p Nioupy siuszobm foid =
a GG'€6="P24 W009'0Q |1LG6 |GLS6 |96 9091 o
1d/uZob 0.°¢6 65 vHL
M
-A'
~
o 3 =
[ = ve6=P24 " [¥2°G6 [¥9°C6 [09'1 C6'cel|
o%s ki 8
VNS F i “UDs “UDY ¢9'C6 m_.wﬁ
o / GL'C6="P'ZY ‘709 nyoupy sluszobm ‘foid =
o 8/°C6="P'Zy ‘T’0p nyoupy siuszobm foig S
o a 0V'€6=P2d W009'02 [80°G6 |09C6 |8% ) 801l &
S 3
o T o4
S 2 I§€6=P2d |[6¥%6 |[G%6 |0Vl 686 a $
[cerame)
- 79°CH="P'zy ‘T'0¢ nypuDy djuszobm oid ,M
. &5 G9'CH="pZy ‘Z'0p NjouDy siuezobim foid| . . . S
~ a €¢°€6="p24 'W009'0Q (¥6¥6 |£C°C6 [l¥l 6¢ mmzw ()
© o0 9
MW.% 2 1€€6=P2d [G6¥6 |1G56 |¥vL 68| A
- ZL'C6="P'ZY ‘T°'0¢ hyouDpy 8lusZObM (01 s
o) Y/'66="p'2y ‘C’0p nioupy siuszobjm foid| . . . P
a 82°6=P24 w0090 |20°Gb |8V 6 |GG} w89 | A
8
<+
. N
> - ‘UDS "UDY [42Y) 66°0G -
E - S U N -
N S 0Ve6=P2d [65G6 |0V'S6 |66F v
. -
N m 1d/u zpb ~
8 “UDS~UDY] [£C6 Goee
= ™ 19) | %
mm N =2 GI€6=P2d [IL¥6 |GE 6 |9g} TN BE &0 N a
=) o v1'€6="P24 " [/G¥6 |¥E'C6 [CC'L (SR P ()
2 py 3 F = xO e S
) A ~ ¢L'e6=Pp2zy |GG¥6 [CCC6 [CC1 _[C18ks &D
g - = o — . i . _—
m ° g O €€'76="P'2y ‘WGz Amouoid Yiupeso [0G¥6 [ICCE [61°1 ek 50
m m _&m G96="Pzd WQ¢Q Jojeredss 0¥ ¥6 |0CC6 |OL | w/w AT ,Dlnﬁ
T . . ) —5
& C 8E6=P 2 (0176 [90ER (28 | 0058 UD¢v
10/ 01 $6 000 =
£
o
c
e
(an)
2
Lo
[e0)
VN w
: =
m 2| < e~
95 = Al Aln
S =1 = o
S N = <C
T (@] U A N ,S E
- = = N al O —
< | w oz >
4 S|l x| < | W = | Ol
4 = = | =2 O
0011 O LLl = N A., 7] —
||| O |Ww|A 51O LU
AT | < |lm|l=|=|2|=
= =Z | =2 LLr | X Z | O | O
Sl x| a0l =
Sl O << | W)X
all x|l | N|»n | w»w | O | I




